Focus Area Based Test - 05E

=2iep SSLC Top Test Series

Mathematics Time : 45 Mnts

Std. 10 (Type - A) (Chap. 1, 3) Score : 20

Instructions :

a)
b)

b)

a.
b.

C.

The first 7 minutes is cool - offtime

This time is to be spent for reading the questions paper

You are not supposed to write anything during the cool - offtime
Read the instructions carefully and attempt the questions

Answer any 3 questions from 1 to 4. Each carries 2 score. B3x2=06)
The n® term of an arithmetic sequence is x =3n+4.

Write its first term.

What is its common difference.

The bag contains 7 red beads and 4 black beads. When we take a bead from the bag without looking.
What is the probability of it being red.

Find the number of black beads to be put in the bag so that the probability of getting a black bead come 5.
The 15" term of an arithmetic sequence is 40.

Find the sum of 14” and 16th terms

Find the sum of first 29 terms.

In the arithmatic sequence 6, 11, 16, ...........
Can the difference of any two terms of this sequence be 43. Why?

. Is41, aterm in this sequence ? Why?

Answer any 3 questions from 5 to 8. Each carries 3 score 3x3=9)
Write any two arithmetic sequences such that the sum of any number of terms from the first term became a
perfect square.

In the picture ABCD is arectangle P and Q are the midpoints
of the sides AD and BC. If we put a dot inside the rectangle, D R C
then what is the probability that the dot is inside the shaded part.

A B
In class 10A, there are 20 boys and 15 girls. In 10B, there are 15 boys and 15 girls. One student is to be
selected for participating the mathematics fair from each class.

What is the probability of both being boys.
What is the probability of both being girls,
What is the probability of one boy and one girl.

(PTO)
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5.

Find the sum
A 14¥2%3¥auaa +30
b: 4% 8F R FE s + 120
G: 6410+ 14 vinver + 122
Looking at the following number pattern.
2
4 6
8 10 12

14 16 18 20

................................

................................

a) Write the next line. 1
b) How many numbers in the 10th line? 1
¢) Write the first and last numbers in the 10® line. 1
d) Find the sum of all numbers in the 10" line. 2
Type - B
Answer 3 questions from 1 to 4. Each carries 2 score. B3x2=6)

Consider the arithmetic sequence.

a) Is 100, a term in this sequence ? Why?

b) Whichisits 10™ term?
The common difference of an arithmetic sequence is 8 and its one term is 37. Can the sum of any 11 terms
of this sequence be 2000 ? Why?
One is asked to say a two digit number.

a. What is the probability of it being a perfect square.
b. What is the probability of it being a multiple of 5.

In the picture, if we put a dot without looking,
then what is the probability that the dot in inside
the shaded part.

Answer any 3 questions from 5 to 8. Each carries 3 score. 3x3=6=9)
a) Find the sum of first 25 odd natural numbers.

b) The sum of first 25 terms of the arithmetic sequence 5, 10,15, .......... is how much more than the
sum of first 25 terms of the atithmetic sequence 4, 7, 10, ......
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6. The sum of first n terms of an arithmetic sequence is %nz : 2 %n

a. Find the firstterm and common difference
b. Write its algebraic form.
74 The sum of first 10 terms of an arithmatic sequence is 400and the sum of the first § terms is 150,
a. Find the common difference and first term
b. Write its algebraic form.

8. A box contians natural numbers less than 10 and another box contains paper slips numbered 1 to 5. If we
take a slip from each box

a. Find the probability that both are odd numbers

b. Find the probability that both are even

¢. Find the probability that atleast one is an odd numbers
9. Look at the following number pattern.

a) Write the next line.

b) Write the last number in the 9 line.

¢) Which is the first number in the 10 line.

d) Find the sum ofall numbers in the 10 line.

— et D e
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Type - C
1. a. Write the sequence of counting numbers from 1 onwards..
b. Write the sequence obtained by adding two adjacent consecutive terms starting from 1.
2. Oneis asked to say a two digit natural number.
a. How many two digit numbers are there?
b. What is the probability of numbers with equal digits?
3. Oneisasked to say a two di git number.
a. Write perfect squares that are two digit numbers.
b. What is the probability of getting a perfect square?
4. Consider the arithmetic sequence 3, 8, 13, ..............
a. Write the algebraic form of this sequence.
b. Find 11" term and 26" term.
5. Algebraic form of an arithmatic sequence is 3n +5.
a. Find first term and common difference.
b. Find thetenth term.
6. Oneisasked to say a two digit counting number.
a. Whatis the probability of this number being odd?
b. Whatis the probability of this number being even?
¢. Whatis the probability of getting a number with different digits?
7. Inanarithmetic sequence first term is 13 and common difference is 4.
a. Find 20® term.
b. Find the sumof first 20 terms.
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=iep SSLC Top Test Series

Mathematics Time : 45 Mnts

Std. 10 (Type - A) (Chap. 2, 4) Score : 20
Instructions :

a)
b)

e

20 99O

b)
c)

The first 7 minutes is cool - offtime

This time is to be spent for reading the questions paper

You are not supposed to write anything during the cool - offtime

Read the instructions carefully and attempt the questions
Answer any 3 questions from 1 to 4. Each carries 2 score. B3x2=6)

Inthe picture ‘O’ is the centre of the circle G

and AB is its diameter ZA=70°, m

Find ZACB. «  BfEee—yB

Write the measure of ZB. v

Draw a circle of radius 3.5¢m. Draw a triangle with two angles 50°, 60° and all its vertices are on this circle.

How many consecutive natural numbers starting from 1 should be added to get465.
1 added to the product of two consecutive odd numbers gives 576. What are the numbers.

Answer any 3 questions from 5 to 8. Each carries 3 score. (3x3=9)
In the picture ‘O’ is the centre of the circle. A

ZAOB =110°, ZOPA =30°
ZAPB, ZOAP, ZOPB, ZBOP.

Find ZAPB, ZOPA, ZOPB and ZBOP.
Draw a rectangle with two sides 6cm and 3cm. Then draw a square of the same area.

The product of a number and six more than that is 216. What are the numbers.

The perimeter of a rectangle is 34cm and its diagonal is 13m. What are the lengths of its sides.
AB isthe diameter of the circle.
Z£APC=90". AP=7cm, PB=1cm
What is the radius of the circle.
Find the length of PC.

Draw a square of perimeter 7.

®)
Type - B

Answer any 3 questions from 1 to 4. Each carries 2 score. Bx2=6)

In the picture ‘O’ is the centre of the circle.

ZLAOC=60°.

Find ZABC and ZADC.

In the picture, the chords AB and CD extended to
meet at P. PA=4cm, AB=5¢cm, PC=3cm. Find the
length of CD. P

(P.TO.)
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3 When each side of a square was reduced by 4m, the area became 49m?. What was the length of a side of the
original square.

4. 9 added to the product of two consecutive multiples of 6 gives 400. What are the numbers.
Answer any 3 questions from 5 to 8. Each carries 3 scores.

5. Draw a rectangle with sides 6cm, 4cm. Then drawn a square of the same area.

6.  Inthepicture AD=10cm. Q
BD = 6cm, CD = 2em. CQ L AD .
a. Find CP

b. Find the length of PQ A B c D
7. Can you construct a rectangle of perimeter 60cm and area 230cm?? Why?

8. The hypotenuse of a right angled triangle is 3cm more than twice its base. The third side is 7ecm more than its
base. Find the lengths of all sides of the right angled triangle.

9. a) Inthepicture, the chords AB and CDintersectatP. A
Prove that PAXPB=PCxPD. @D
C~—B

b) Draw arectangle with length S5cm and breadth 3cm. Then draw another rectangle of the same area with
length of one side is 6¢cm. (1x5=5)

Type - C "

AB is adiameter. C is a point on the circle.

Find £ ACB. c

IfAC=BCfind ZAand £B. A 2
2. Each side of a square was reduced by 1 meter. The area became 64 sq. metre. Find the length of the side
of the original square. 2

1 added to'the product of two consecutive odd numbers gives 196. Find the numbers. 2
Draw asquare of area 6 square centimetre. 3

Oisthe center of the circle. A, B, C, D are points on =
the circle. Z A=30°
a. Find ZD. Give reason.

b. Findthe central angle of arc BDC. /
Find the solution of the equation, x2+ 2x =224 DN e

gp

N e

~ o
w W

In the figure O is the centre of the circle. P, Q, R, S

are points on the circle. Fill in the blanks and give reason
for your answer. _

ZOQRS =...ceveeruraanne

LPORS osiisiisinn

ZOPS = isnmasa

Central angles ofthe arcs QPS and QRS are. .................. s R

A o




Test - 11E

Focus Area Based

Step SSLC Top Test Series
Mathematics Time : 45 Mnts

Std. 10 (Type - A) (Chap. 5, 8) Score : 20

Instructions :
®  The first 7 minutes is cool - offtime
® Thistime isto be spent for reading the questions paper
®  Youare not supposed to write anything during the cool - offtime
® Readtheinstructions carefully and attempt the questions

Answer any 3 questions from 1 to 4. Each carries 2 score. Bx2=6)
1. In AABC, ZA=60°, BC=12 cm. Find the circumradius of this triangle.
D C
2. In the picture ABCD is a parallelogram. Z 350 /6cm
AB=12cm, BC=6cm. Z/B=135", i -
Find its area. 12cm
3. The base radius of a cone is 8cm and its curved surface area is 1367cm?.

a. Find its slant height.
b. Whatisits height?
4. If we make a square pyramid with the lateral
faces are as shown. Then what would be its height.

20cm 20cm
24cm
Answer any 3 questions from 5 to 8. Each carries 3 score Bx3=9)
5

D
In the picture AB = 10cm. £C=90°,
4CBD=600, 4A=300 . Find the lengths 30° 60°
of the sides of ABCD. A 10cm B 5

6. When the sun is at an elevation of 60°, the length of the shadow of a tree is | 2m. What would be the length
of the shadow, when the sun is at an elevation of 30°.

7 The base radius of a cylindrical block of wood is 12cm and its height is 30cm. What is the volume of the
largest cone that can be carved out from this?

8. A hnll:i;ﬂ sphere of radius 6¢m is melted and recast into a cylinder of radius Sem. Find the height of the
cyl
9. Inthe picture ZB=90°. BC= 6, Sin A =3/s
a) Find the length of AC. C
b) Find CoSA.

¢) WhatistanA. (1x5=5)

‘PTO )
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Type - B
Answer any 3 questions from 1 to 4. Each carries 2 score. Bx2=6)
I. Intriangle ABC, AB=10cm, BC=8cm, ZA=60°, Find the area of this triangle.
2 In aquadrilateral ABCD, AC=10cm, D
ZBAC=45", /ACD=3(", K
£B=/D=90°, 45

Find the perimeter of the quadrilateral ABCD.

N

B ()

3. Asquare pyramid of base edge 14cm and height 24cm is to be made by folding a piece of paper. Find the
base and height of the four isosceles triangles used for making it.

4. What is the central angle of the sector needed to make a cone of base radius 8cm and slant height 32cm.
Answer any 3 questions from 5 to 8. Each carries 3 scores. 3x3=9)

5. The larger diagonal of arhombus is 8cm and its one angle is 60°. Find its area.

6. The angles of elevations of two men see the top ofa tower standing opposite sides at distances 4m and 9m
are complementary. Prove that the height of the tower is 6m.

% The ratio of the base radii of two cones is 2 : 3 and their heightare in the ratio 3 : 4. What is the ratio
of their volumes.

8. Calculate the volume of the biggest sphere carved from a cone of base diameter and slant height 18cm each.

9. The diameter of two spheres are in the ratio 2:3.

a) Whatisthe ratio of their radii.

b) Write the ratio of their total surface areas.

¢) Find theratio of their volumes. 1x5=5)
, Type - C
L Intriangle ABC, /B=90° SinA=CosA then find the measures of £ Aand ZC. 2
2. Inacone base radius is 5cm and slant height is 13cm. Find its height and volume. 2
3 Froma circle of radius 18cm, a sector with central angle 60°is cut out to make a cone. F ind slant height and
base radius of the cone. 2

4. In triangle ABC, AB = 12cm, AC = 10cm and £ A=45°,
a. Draw anapproximate figure.
b. Find perpendicular distance from C to AB.

c. Find the area of the triangle. 3

5. Length of the diagonal of a rectangle is 14cm. This diagonal makes 30° angle with one side of the rectagle.
Find the perimeter and area of the rectangle. 3

6. Atentis to be made with height 12 meter and base diameter 10 metre. Find the area of the canvas required
to make the tent. 3

T A boy is standing in between two buildings with equal heights. Buildings and the boy are on the same line.
Boy is observing top of the building 0f45° and 30° angle of elevation. Distance from the boy to the nearest

building is 2cm.
Draw an approximate picture.
. Find the height of the buildings and distance between them. 5

o
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Std. 10

Test - 20E

Focus Area Based

SSL.C Top Test Series

Mathematics
(Type - A) (Chap. 6, 9)

Time : 45 Mnts
Score: 20

Instructions :

b)

The first 7 minutes is cool - off time

This time is to be spent for reading the questions paper

You are not supposed to write anything during the cool - offtime
Read the instructions carefully and attempt the questions

Answer any 3 questions from 1 to 4. Each carries 2 score. 3x2=6)

In the picture OPQR is a parallelogram. R(l
P(4,0),R (1, 3). Write the coordinates of Q. Q
O P(4,0)
y
prl O 600 LY
3l P(6.0) "X
AB is the diameter of the circle with centre B

as the origin. ZAOP=60°, P(6, 0).

Find the coordinates of A and B. y
The equation of a circle is (x+2)*+ (y-3)* =5. Write the co-ordinates of its centre and also write its radius.
Prove that the point (1, 3) (3,6) and (7, 12) lie on the same line.

Answer any 3 questions from 5 to 8. Each carries 3 scores. B3x3=9)
Prove that the triangle formed by joining the point (8, 2), (5,-3), (0, 0) is an isosceles triangle.

The centre of a circle is (1, 2) and a point on its is (3, 2). Find the coordinates of the other end of
the diameter through this point.

The coordinates of the vertices of a quadrilateral taken in order are (2, 1), (5, 3), (8, 7) and (4, 9).
Find the coordinates of the midpoints of all four sides.

Find the co-ordinates of three other points on the line through (-2, 3) and(1, 7)
The equation of a line is 2x-3y+6=0.
Find the coordinates of the points of intersection of this line with the coordinate axes.

What is the slope of this line. (1x5=5%)

Type - B
Answer 3 questions from 1 to 4. Each carries 2 score. 3x2=6)
The coordinates of the opposite vertices of a rectangle are (2, 6) and (8, 9). If the sides of this
rectangle are parallel to the axes, then find the coordinates of the other two vertices.
The coordinates of the vertices of triangle ABC are A(2, 6), B(6, 8), C(4, 10). Find the coordinates of the
midpoints of the sides AB, BC and AC.

(PTO.)
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3. In the picture, one side of the equilateral triangle is 8 unit. Find the co-ordinates of all the three
vertices of the triangle.

y
A

0

ST < >X
h' 4

<
o

4, Write the equation of the circle with centre (2, 3) and radius 4 unit.
Answer any 3 questions from 5 to 8. Each carries 3 scores. B3x3=9)
5. Prove that the points (2, 3), (4, 6) and (8, 12) are on the same lines.
6. (2,3)and (5, 9) are two points on a line.
a. Find the slope of the line
b. Write the coordinates of other two points on this line.
o The end points of the diameter of a circle are (-6, 0) and (6, 0)
a. Write the coordinates of the centre of the circle
b. What is the equation of this circle.
8. The co-ordinates of the vertices of a quadrilateral are (3, 2), (5, 4), (7, 6) and (1,8) in order.
a. Find the co-ordiantes of the midpoints of all its sides.
b. Prove that the quadrilateral got by joining these mid points is a parallelogram.
9. The equations of two lines are 2x+y-6=0 and 2x+y+4 =0
a) Write the coordinates of any two points on each of these lines.

b) Prove that these lines are parallel. (1x5=5)
Type - C
1. a. Find the x co-rdinate of any point on a line passing through (5, 0) and parallel to y axis.
b. Find the y co-ordinate of any point on a line passing through (0, 4) and parallel to x axis. 2

(6, 8)
./
4,3) . 5)

Find the co-ordinates of the fouth vertex of the given parallelogram. 2
3. a. Whatis the speciality of a line joining the points (1, 3), (7, 3).
b. Give the co-ordinate of another point on this line. 2
4. There is a line joining the points (2, 3), 10, 9)
a. Find the mid point of this line.

b. Find the radius of the circle with this line as diameter. 3
5. Check if the points A(1,-1), B (5, 2), C (9, 5) lie on the same line. 3
6. a. Draw xaxis and y axis then mark the point (3, 0).

b. Draw an isosceles triangle with one vertex as this point. 3

7 A(1,1),B(5, 1), C(7,8),D(3, 8) are vertices of a quadrilateral.
Find the length of the sides AB, BC, CD and AD.
Check if the opposite sides equal in length. 5

o ®
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Slep SSLC Top Test Series

Mathematics Time : 45 Mnts

Std. 10 (Type - A) (Chap. 7) Score: 20

Instructions :

o P

The first 7 minutes is cool - off time

This time is to be spent for reading the questions paper

You are not supposed to write anything during the cool - off time
Read the instructions carefully and attempt the questions

Answer any 3 questions from 1 to 4. Each carries 2 score. 3x2=6)
The area and perimeter of a triangle are 60cm*and 40cm respectively. What is its inradius.
In the picture PA and PB are tangents to the circle ZPAB=50°. Find ZACB and ZAPB.

<

Draw a circle of radius 3cm. Then mark a point P at a distance 7cm from the centre. Draw tangents from P
and measure their lengths.

Thelengths of the perpendicular sides of a right triangle are 6cm and 8cm.

Find the area of the triangle

Find its inradius

Answer any 3 questions from 5 to 8. Each carries 3 scores. (B3x3=9)
In the picture, the sides of the triangle are tangents to the circle. AB=4cm. AC=6cm, BC=8cm. Find the
length of BD. A

A

FON

D
Draw acircle of radius 3cm. Then draw the chord AB of length 4cm. Draw tangents through A and B.

In the picture, all the sides of the quadrilateral ABCD are tangents to the circle. Prove that AB + CD =AD

B
A
In the picture, three circles are drawn. PAand PB are tangents. Prove that PA=PB

(PT.0.)
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a)
b)

o

Mathematics T- 14E

In the figure, MN=12cm, MD=8cm, MB=9cm.
What is equal to MAxMB.

A
Find the length of CD and AB. & B
N>

Type - B
Answer any 3 questions from 1 to 4. Each carries 2 score. B3x2=6)

‘0’ is the centre of the circle. AB and AC are
tangents to this circle. ZBAC=80°. Find

B
ZBOC and /BPC. , i
p
(@

Draw a circle of radius 2.5cm. Then draw a triangle with two angles 40° and 70° with all its sides are
tangents to this circle.

In the picture BC is the diameter and PC is a tangent to the circle with centre ‘O’. AC = 4cm and
ZACP=45°

(1x5=5)

B

%

S
Find /B and ZP ¢ P
Find PC and PB

PA, PB and QR are tangents to the circle. Prove that the length of the tangent PA is half the perimeter of
APQR

A
P
B
Answer any 3 questions from 5 to 8. Each carries 3 scores. 3x3=9)

[n triangle ABC, AB=7cm, BC=6¢m, ZB=50°. Draw the triangle and construct its incirlce and measure its
radius.
In the picture, the sides of AABC are tangents to the circle. £P=60°, £Q = 70°. Find the angles of AABC
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7. [n the figure, the incircle of a triangle is drawn with centre ‘O’. Calculate ZAOC.

A

ZAN
N

8. In the picture AABC is an isosceles through AB = AC. The tangent AC meet at D on the circle and it is the
midpoint of AC. Circle meet at P on the side AB. Prove that AB=4 x AP,

A

D

B (3=

B
9. In the picture PC is a tangent PA=16cm, AB=9¢m ‘
‘. e

a) Find PC.

b) Find the area of a triangle PCB.
C

Type - C

1. Q

P
O is the centre of the circle and PQ is a tangent.

R

P
QP, QR are tangents to the circle with centre O.

a. Find the measureof ZPand £R.
b. If ZROP=130°thenfind £ Q. 2
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D
3 A
B 2
BC is achord and AD is a tangent to the circle AB =4c¢m, AC = 16cm. Find the length of AD. 2
A
€
4.
B
Oisthe centre of the circle, OA, OB are radius and CA, CB are tangents. Radius = 12cm, £ AOB =120°
then find CA and CB. 3
A
3
40°
5 (0] B
O is the centre and AB is a tangent to the circle. Explain the method of construction of this figure using the
given measures. 3
6. Draw atriangle with any measures and construct incircle of this triangle. 3

y 3 Draw acircle with radius 3cm. Mark a point 7cm away from its centre. Construct tangents to the circle from
this point. 5




Focus Area Based Test - 24E

Step SSLC Top Test Series

Mathematics Time : 45 Mnts

Std. 10 (Type - A) (Chap. 10, 11) Score : 20
Instructions :

® The first 7 minutes is cool - off time

®  This time is to be spent for reading the questions paper

® Youare not supposed to write anything during the cool - off time

® Read the instructions carefully and attempt the questions

ol ol O

b)

Answer 3 questions from 1 to 4. Each carries 2 score. Bx2=6)
Write the second degree polynomial x?-16 as the product of two first degree polynomials.
(x-2) is a factor of the polynomial x>+kx+6, then which number is K?
Scores got by some students in an examination are given below. Find the median of the scores.
48,32, 37, 24, 62, 13, 65, 74, 71, 54
Check whether x-3 is a factor of the polynomial P(x) = x> - 5x2 + 3x - 1
Answer any 3 questions from 5 to 8. Each carries 3 scores. B3x3=9)
Write x?-3x+2 as the product two first degree polynomials.
If (x2-1) is a factor of the polynomial ax® + bx? + cx +d, then prove thata+c=b+d=0
The following table gives the monthly income of 35 families. Find the median monthly income

Monthly income (Rs) Number of families
4000 2
5000 2
6000 3
7000 5
8000 7
9000 6
1000 6
11000 . 4
The table below classifies the height of students in a class. Find the median of the height.
Height (cm) Number of students
135 - 140 7
140-145 8
145 - 150 10
150 - 155 11
155 - 160 5
160-165 4
If (x+1) is a factor of the second degree polynomial ax*+bx+c, then prove that b=a+c.
Write a second degree polynomial with (x+1) as a factor. (I1x5=5)
Type-B
Answer 3 questions from 1 to 4. Each carries 2 score. B3x2=6)

Write x?-5 as the product of two first degree polynomials.
If (x-1) is a factor of the polynomial ax?*+bx+c, then what is the relation between a, b and c.
For different values of x prove that -1 is the least value of the polynomial P(x) = x? + 6x + 8
The height of some students in a class are given in centimetres. Find the median heights.

165, 159, 146, 153, 147, 145, 136, 158, 163, 151

(PTO.,)
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Answer any 3 questions from 5 to 8. Each carries 3 scores. 3x3=9)
Prove that the second degree polynomial x>+x+1 cannot be expressed as the product of two first degree
polynomials.

In the polynomial P(x) =x"- 1

If nis an even number then prove that (x+1) is a factor of P(x)

If n is any natural number then prove that (x-1) is a factor of P(x).

The following table gives the number of workers doing various jobs in a company and their daily wages.
Find the median daily wage. '

Mathematics

Daily wage (Rs) Number of workers
600 2
700 -
800 5
900 7
1000 5
1100 4
1200 3
The following table gives the scores got by some students in a class. Find the median score
Score Number of students
0-10 4
10-20 12
20-30 10
30-40 9
40-50 6

Write the second degree polynomial P(x)=x?+12x-13 as the product of two first degree polynomials.

Which are the solutions of the equation P(x)=0. (1x5=5)
Type - C

In the polynomial p(x) =x*>—3x + 2, find p(1) and p(-1). 2
Wages of 5 employees are 106, 117,107, 121, 109. If the total amount is distributed equally among them.
How much will one get? 2
Height of eight students are given in centimetres. 135, 120, 148, 153, 124, 122, 150, 147. Find the median
height. 2
Write the polynomial p(x) =x*>— 7x + 12 as the product of two first degree polynomials. Find also the
solution of the equation p(x) =0 3
Daily wage of some workers are given. Find the median wage

Wage : 450 500 540 600 700 800

No. ofemployees : - 7 9 5 3 2 3
p(x) =2x?+x—4 is a polynomial.
Find p(-2)
Check if (x + 2) is a factor of p(x) — p(-2). 3
Table of income of some families are given. Find the median income. 5

Income 200-300 300-400 | 400-500 | 500-600 | 600-700 | 700-800
No. of families : 3 7 10 8 B 3






